EARAROBEEIERT — 2 N— IBISH —F 20145%7H138 (B) 2E{R54H

BGN > %-%C 1000%T ¥5%3%E (BS) [EEl & [ o] mm — |2 ) o0 &

il

[A~&E£] 1 7% 14,700,000 § ~ 2 7% :5,900,000 § 337 :3,700,000 4 7 :2,200,000 § 5 & :1,470,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS

. . 4 | IERS 1:09.3 1-1 35.3|100.4 | 4 460 | HEZ ()

1811 VEXF ¥ # 55.0 &) 4 |Trv—vrraa

:Fas 4 B:a—ILI—X—> HBE77— L4

S == B4 | ALHEF 1:09.3 5-5 34.9(100.5 | 1 472 | INEfREL ()
2|5|5|¥Y—=Y> v 7 55.0 (74%) ) Eﬁﬁ%%

L BATATv— BNyINYyIE ELie)

o HEX : - Sl (EH)

R it 5 e 1(.10/92.>4 10-11 | 34.5| 99.6 | 11 12(6);1 il

L:7LrFFE2T B:HIL—IL () HEI-RL—-2a>AET 7

E—35 4 5 | ML 1:09.4 2-2 35.3|99.3 | 5 432 | HFT (E’R)

7 55.0 (7E) ) FEHB
R:F1—TA2NU N B2 bTACT T =Eizie]
®JINF1—k—J [B] # 5 gﬁﬂg 1(:10/92.>5 7-7 35.0] 98.4 | 9 <4+560) gggé (&)

R bk—Lb BiL—>F54 kUFE o
®TAIRKYaq 7 || Bl (17(2375) B7 |39 %4 | 10 | 40 %\i%é (=8
R:A—JFIhT7x B:RFSET (-6) =R77—L
Lk 4 7 | EHEHHE—ER 1:09.5 4-4 35.2| 98.3 | 6 474 | AEE (EH)
71111 57.0 (75=) (-2) REHER
RHHUY BiL—F - LA
N 4 5 | AEEE 1:09.6 10-7 348|975 | 7 488 | BHIEF (ER)
glzlg|n>sxnz 57.0 (172) o |®B%E
LM bhk—L B:HFA)—TI2—-X K #%
5 QT H o6 | AEFEIR 1:09.6 2-2 35.4| 97.3 | 3 470 |PARE (ER)
9| 810|771 XA 67.0 (7€) o | B
XY ISR FH— BiEvIv—> TR
SHILS 5 | SHZ 1:09.7 8-10 35.0| 96.4 | 8 508 | KAMREE (Fi#)
10/7/9|®Ly RAILDT # 57.0 (1/2) (+4) | ) REA-—2L—>
R:FATATv— BiLIZHhEhU— paiutie)
. 4 3 | BPBE 1:09.8 5-5 354|952 | 2 486 | BREEE (E@)
] 2| VIRRA—/— 52.0 (3/4) g | BB
L7 R4 vV —-> BiUIRZ22 =Y YIXEL Ty —LI
@ 21 L
£ 46.4-35.3
NA>ZA L | 12.1-10.8-11.1-11.6-11.7-12.0
® 1—F—@EBIERL
13—7F-
2ol=5"=
== 11(7,10)1(2,5)4(3,9) (6,8)
43—+ — 11(7,10)1(2,5) (3,4,8)9,6
[ N5
B 1 720M 714K 5-11 390M e E 5-8 350 JEE 5-6-11 14,920H
# B 1 190M4 6-11 5,270 B E 5-11 890M 3EE 11-5-6 82,260
5 140 5-6 2,650/ B H 11-5 2,340M
6 1,180

ABICOVWTRDTEEERROODE. TR LIV,



